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MENTAL ABILITY/ LOGICAL REASONING

1

What would be the value of the following expression?

1 1 1 1
QT T Mg RS
A. : %
C. = D. =
Jo i3 Tuind © S off J=ar?
1 (1_%)(1_21;')(1_%)“"""“‘1(1—9%)(1"1—(1)6)
A. e B. =
C. — D. =

280 apples are distrusted to a group of 50 girls and boys in such a way that each boy

get\jg?/wﬁles and each girl gets 5 apples. How many boys are there in the group?
& B: 25

C. 35 D. 45
280 A & 50 I w3 Hfgwt 2 AT R A o I T A TT BIAG 7 7=

n@wgﬂésﬁamla@ﬁa%ﬂéaﬁ?

A. 15 B. 25

C. 35 D. 45
The average weight of three persons A, B, and C is 45 kg. If the average weight of A
and B is 40 kg and average weight of B and C is 34 kg, then what would be the weight

of B?
A. 15kg B. 22 kg
C. 26 kg D13 kg
f3 fan@Sr A, B W3 C T WIHI 979 45 fIBI[H I Aad A 3 B T WHS I'J 40

ﬁéarﬂéwéas“cvvﬁﬂga@%ﬁmjwswmaﬁééaw
A. 15 a8 B. 22 a8
c. 26fa® D. 13138

If a train moves with a speed of 30 km/hr for 12 minutes and for next 8 minutes it moves
at a speged of 45 km/hr, then what would be the average speed of the train?
. 36 km/hr B. 37.5 km/hr

C. 42 km/hr D. 45 km/hr
353 I Isa 12 file B8 30 fadieg Pt wer & 939 o gae I w3

WA 8 fifet B8 AT 45 fadieg Yy wer 9 9g39 &8 g8t J, 3T IsIS &
WA3 I3t &S I=qM?

A 36 fa@Hieg e B. 37.5 fa@ieg uer

c. 42 faditeg e D. 45 fadhiteg der
What would be the H.C.F of the numbers —32- 95 51; S% ?

A B. 5°
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10.

2 81
\94 D.

Z B 10 32 .a X
= —,— ,— 33" T H.CFal Jadr?
3 9 27 "81
160 60
B == B 28K
81 3
i i
81 2

If two numbers are in the ratio 5 : 7 and their L.C.M. is 315 ., then what would be the
product-of these two numbers?

~ 2835 B. 2538
C. 2385 D. 2358
Aeg © "' 5 ¢ 7 wieurs 9 I8 w3 898 T L.CM. 315 3, 3t §Iat Afsmrer
T JEASS Jf I
A. 2835 B. 2538
C. 2385 D. 2358

Radhika spent Rs. 44668 on her air tickets, Rs. 56732 on buying gifts for the family
members and has 22% of the total amount as cash with her. How much money she

has in total?
A. Rs.1,28,600 . Rs. 1,30,000
C. Rs.1,01,000 D. Rs.1,33,800

Iaar & Wyt geTet feaet 3 QU Lue 68, Ufgea @ Agt 8dt 392 udtes 2
JUE 56732 ¥JT S13 W3 I8 IIH T 22% GH a5 Bae Al 87 38 I & gau
HI?

A. JUT 128600 B. Ju® 1,30,000

C. gu¥ 1,01,000 D. gu¥ 1,33,800
Ram sold a Pen to Sham at 20% gain and Sham sold it to Karan at a loss of 10%. If
Karan bought the Pen for Rs.216, then at what price did Ram purchased it?
. Rs 200 B. Rs 216
C. Rs 250 . D. Rs 228
IHE B Us 7 & 20% 573 T g w3 71 & foAd 10% 2 we g ags & 2o

ﬁaaaas?sﬂ%iszmguéﬁeaélﬁw,?am?s@ﬂémaﬁdﬁ'éu@ﬁhm

A. Rs 200 B. Rs 216
C. Rs 250 D. Rs 228
If one-third of four- seventh of a number is 80%0f 60, then what would be that number?
A. 0 B. 175
v DD D. 412
Had faR Aftmr T 919-A3e © g 308 T 60 © 80% I, 37 G Hfemr &t 92472
A 120 B. 175
C. 252 B 442

If Raju and Babu can do a piece of work in 12 days; Babu and Kalu can do the same
work in 15 days whereas Kalu and Raju can do the same work in 20 days, then in how
many days Raju alone can do the said work?
A. 16 days B. 24 days
. 30 days D. 40 days
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11.

12,

13.

14,

Aa9 Ig »3 =Y 12 fee' &g Bz dH 9T AAR I6; Ig W3 T8 A SH § 15
fest f&g a9 AR I6, 7% f@ 3 w3 Iy for dH § 20 fea' <8 99 AaT 95, 3
A 16fes B. 24fc%
C. 30fea D. 40 fes

Rajender is the brother of Jitender. Geeta is the sister of Harender. Jitender is son of
Geeta. How is Rajender related to Geeta?

\Q/Brother B. Father
. Son D. Nephew
g9 gaTg, Afdeg T 397 I 33T, gfdeg & 3= I Affes, i T UYzT I I
gfdeg T 93 &8 & A"g I7?
A 3T B. fusr

RIEE D. FH
Choose the correct alternative amongst the following choices that will continue the
same pattern and replace the question mark (?) in the series
4,8,28,80,244, 7
A. 278 \E){B
C. 628 . 1728

fde (2) & AT 3 W A<
4,8,28,80,244, ?

A 278 B. 328

C. 628 D. 728
In a certain Code language “HONGX" is coded as “BIHAR”. Following the same rule
of coding, what would be the word for the COWVAXO?

A. BACHELOR ” BHOJPURI

C. BOARDING D. BRIGHTER
fifer ¥R 3F ITHT F¥T “HONGX” & “BIHAR’ fagr wier 31 afdar @ @A fownd & user aae

I8, 33 HNUPVAXO BEt &f HeEe Jedr?

A. BACHELOR B. BHOJPURI
C. BOARDING D. BRIGHTER
In the following number series one term is wrong. Find out the wrong term?

15, 28 45, 64, 85,116,147
A. 45 785

C. 116 D. 147
Iz oy &gar & 3 o g 99 3183 J) IB3 d599 T U3 BIME7?

15, 28 45, 64, 85,116,147

A. 45 B. 85
. 116 D. 147
What would be the value of the following expression?
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15,

16.

T7,

18.

19.

(724 + 62)* + (724 — 62)?
(724 x 724) + (62 )
2

A 1 .
C.3 D. 4
Jo' i3 THAY T HS of Jear?
(724 + 62)% + (724 — 62)*
(724 x 724) + (62 x 62)
A1 B. 2
C. 3 D. 4

Answer Q No.16-18 based on following statement:

A, B, C, D, E, F, G, and H are sitting around a circle facing the centre, not necessarily
in this order. F is third to the right of C and is second to the left of H. D is not an
immediate neighbour of C or H. E is on the immediate right of A, who is second to the
right of G.

I fe3 aus @ wod 3 ATS 99 16-18 © €33 fv6:
A B,C,D,EF, G W3 HY9g T dvd € Aore i gr © ©d 88 J¢ I, Agat
sl fafeR g e JeIF,CR MM UA ST I3 HE 8 I ea dua 3 8957 J)

D, CH" H T &aclel IMEl &1 JIE, AT IIS AAUR I A MG AR UR g Jl

Who sits between G and D?
A. KA

" F
GwW3 D fegarg A= 257 J7

A H B.
C. F D.
th\:ﬁ;e’cond to the left of C?
A B. B
C. E D.D
ceda I g e g I?
A A B. B
@ E D D

Which one of the following pairs of persons has first person sitting to the right of second
person?

A. CB js/v{
C. FG \.P. DB
Jat €3 fewasmi @ Afait 39 fagz ufgs fenast gx feona3t @ At i g
J7?

A. CB B. AE

C. FG D. DB
Radha moves towards South-East a distance of 7 km, then she moves towards the West
and travels a distance of 14 km. From here she moves towards North-West a distance of
7 km and finally she moves a distance of 4 km towards east. How far is she now from the
starting point?

A 3 B. 4
\C/IO D. 11

B.D
D.E
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I DE-YI" I3 7 [A¥icd g8Tl 3, fad 89 UeH <8 At I w3 14 fa8Hies
& Tt 3 Jae! I fE Gg €39-UsH <8 7 fadiica g8t 3 w3 i3 Ko 89
yJs 25 4 fasiica gsel J) gz Qg ggmst fig 3 fuddt gg 37

A 3 B. 4
@, 10 D. 11
20. The tank-full petrol in Arun's motor-cycle lasts for 10 days. If he starts using 25% more

every day, then how many days will the tank-full petrol last?

A. 5 \/g/e’

Cy7 B
wde © Heg AEas &g &9 3fawr Ueds 10 fest 35 afder 31 Agg 89 3w
25% frmieT @93 Hg &9 feer J, 37 2-ya" Ueds fds fos gdqam

A 5 B. 6
C.7 D. 8
ENGLISH
21. Fill in the blanks with the correct form of tense:
After he his wife at the airport, he back home.
\/é/eéw off; came B. seen off, came
. had seen off; came D. had seen off, comes
22. Select the correct synonym of the underlined word:
Please do not interfere with my work.
\ﬁ/lv{eddle B. Help
C. Copy D. Object
23.  Select the correct sentence:
A. He had fined for coming late B. He were fined for coming late
C. He have fined for coming late \9./He was fined for coming late
24. Fill in the blank with the correct preposition
The thief jumped the wall and aped.
A. into _ ,\ﬁ.oéff
C. against D. on
25. The correct antonym of artificial is:
A. solj B. truthful
\C%‘j;l D. fake
26. Choose the correct adjective:
The thing of all was that his son was rude to him.
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A. bad \B/worst

C. baddest D. worse

27 What is the meaning of the underlined phrase:
You have to raise your voice a little when talking to him. He's a little hard of hearing.

A. stubborn \g}uie’( when he speaks
C. distracted " deaf

Directions (Q No. 28-30)

Read the following paragraph and answer the following questions:

Androcles, the slave of the king, was ordered to fight with a huge lion that had been
kept hungry for two days. He was sure the lion would tear him to pieces. So, he was
sad to be back. A large crowd of people had come to see the fight. The lion was let
loose into the arena where Androcles had been made to enter. The beast came roaring
aloud out of its cage looking fiercely. As the lion neared him people got excited to see
the bloody drama. But suddenly the lion stopped roaring and became calm. Instead of
attacking Androcles he crouched at his feet and began to lick hands. Tears of joy
welled up in Androcles’ eyes and he embraced the lion. It was the same lion with whom
Androcles had lived in den for many days.

28. What was Androcles ordered to do?
\‘ﬂ:./teffight with the other slave B. to fight with a minister
” to fight with a huge and hungry D. to fight with an elephant
lion

29. vvniliyxﬁeuondo?

. began to lick his hands B. killed the minister

C. fought with Androcles D. killed Androcles

30. What is the meaning of 'embraced’?

A. killed B. ed
C. hold ~ hugged

PUNJABI
31 fggg #a< ©a T feadt &df I7 P
A. 3B ' K e
C. YH [, Wid
3o UFGE e fdSh o ge 96
A Ea B. gJ

c. U= \g/é

33 92 A=, fores v O © AYT A fisls B8 293 7E, 857 § 993 s Jfde

e

Joa?

A. TAI TIL &< B. WH &<
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34, MM@WE&M%@W
A. A3 B. W&

N D. 39¢

a5 A WHd &8 &1 &7 &4t 2, €7 § o afde Ia?

A TIE & HEST

c. €3 D. fenlva
36, WHTHAEIG ______ _ E E YT Sl

A FEUSE B. JH & UET

C. Far®' &% g8 B FEgIe

37 [59F AET ‘AEI T AHGIE &J1 J ?
ﬁ/?ﬁ B. H3Y
C. Id

. D. AgHST
sg  TINE Hg3 U ARSI SIS AEE © we @ e €7
A. &< B. feds T og &< fts
\,Q-/:f:'f-f[?‘ﬁr D. TH3 94 &'
39 HIHA uTEE ygeI T Al vaE I ?
A. Hd fifer g9BE T 5 \B/HQS’“IE’QHEW
c. fos 1S A1 98T T8" D. g3 fawer 98 T
40, Horeuut 3 A famm faozr o= 37
A AOgE T B. firigs =
C. Aga3 T - D. V@M T

COMPUTER PROFICIENCY

41.  How many layers are there in OS| model?
A. 2 layers T 7 layers

C. 4 layers D. 9layers
0S| H3s &g fdami 8ngr I&7?
A. 2 BWIH B. 7 8WIH
C. L BWIHA D. 9 ®IH
42. What is e full form of ‘HTTP’?
~ Hypertext Transfer Protocol B. Hyper Transfer Text Package
C. HyperText Transfer Package D. Hyper Transfer Text Practice

‘HTTP' T yJ™ gy ot I?
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43.

44.

45.

46.

47.

48.

A. JENICTAC SHST Y2 JENS THST SFAC Uad
C. JEIIeHe gHed daH D. IEIUG THST S YdicH
What s the full form of ‘MAC?

. Media Access Control
C. Mass Access Control

‘MAC’ & Ygr gy off J7

m

Media Access Carriage
None of these

O mw

A. WE eAA deIds B. HIgh wiaHA aor
C. WA WaHH dc38 D. fegs &8 et &t
Which one of the following layers is responsible for data translation?
A. Network ~ Presentation
C. Datalink D. Application
J& fadht Sngr 29 fagdt 3nwg 3 wiaee B8 fdneg I7
A. Eeead B. JACHS
c. Icfda D. WElaHs
Which one/ofthe following layers is not there in TCP/IP?
7 Session layer B. Transport layer
C. Application layer D. Network layer
Jo fEdt 3ngr &9 faadt Tep/IP R &dt 97
A. REG Bwg B. TAUIT &g
C. "SaHs 3ng D. TeId ag

Which one of the following is not a ‘Network Topology’?
A. Star \/S/Bﬂs
C. Ring . Peer to Peer

Jo fadit (&9 faadt g ‘Seega U+ &t 372

A. A9 B. A

C. fdar D. Ui 3 Umig
What is the full form of USB? \B/

A. Unlimited Service Band 7 Universal Serial Bus

C. Unlimited Serial Bus D. Universal Service Bus
USB &Y' gy & J?

A. WEfBfEg Aafern =3 B. UOITIAS HIIGME 5/

C. WefsiHeg AIgS =H D. YdledAs AIfTA g7
Which one of the following commands is used to identify TCP/IP errors, such as
connection problems? >

A. FTP & Ping

C. POP3 D. SMTP

TCP/IP WIg fAg f& goans AU, T Use d3s &8 J& fS3m gHig
&5 fagst ffg g ©f <93 i3t At 97

A. FTP B. Ping

C. POP3 D. SMTP
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49.

50.

51

52.

D3

54.

6s.

Whial’?!/ﬁe following is not a computer input device?

. Printer B. Mouse
C. Keyboard D. Joy Stick
A. fijeg B. ¥GH
C. d=g3 D. 7¢ Afed
Whi'c\;}a(of the following protocols is used for sending emails?
7 SMTP B. HTTP
€. FTP D. Outlook Express
% 37T B8 ot 3 Yeasn Y fagz g 4238 =i 7w J7
A. SMTP 'B. HTTP
G. ETP D. Outlook Express
How many function keys are there in a keyboard?
A. 15 B. 1
C. 13 <12
A. 15 B. 14
C. 13 D. 12
Which one of the following can be used to send sameemail to different email-IDs?
A. Macros Mail Merge
C. Template D. None of the above

Jy-2y Eis-wrEiSt & 3 s 3 Bt do 63 98 far fia S ea3 aist v
AdSr 97

A. AIId B. W& HaH
C. SHUSe D. fogst &5 ad &t
Which of the following is the default file extension for MS word-2007 file?

A. .doc B. .word

,\%docx D. .txt
WA 293-2007 8IS 38 Jof 23 &9 fagzT f3ese odls wlandas J7

A. .doc B. .word

C. .docx D. .txt
What is the shortcut of replacing a word/character in MS word?

\é/t,/%rl ¥ p B. Ctrl+p
. Ctrl+h D. Ctrl+s

whimiA <93 o fan rae/ug § foudn T macde &t 37

A Ctrl +r B. Ctrl + p
C. Ctrl + h D. Ctrl +s
Which function key is used for Spell and Grammar check in MS word?
A. E B. F8
< E7 D. F12

WA =93 g mifSar w3 fowrggs A S8 faast Sdrs f €931 AT 97
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A. F5 B. F8

C. F7 R. Fi2
56.  What is the shortcut of ‘Align Center’ in MS word?

A. Gt +c B. Ctrl +j
7 Ctrl+ e D. Ctrl +k

A 233 &g weHs Acg’ © grgade ot 97

A. Ctrl + ¢ B. Ctrl + ]
C. Cl +e D. Ctrl + k
57. Whic\:??ﬁ'}e following is an example of Page Orientation?
. Portrait B. Legal
C. Superscript D. Letter
Jat 3 &9 faozr On Eichs & Geagds 372
A. Udede B. BI91®
C. HUIAfQUT D. 8c9
58.  In MS excel, single element in a worksheet is knowpras?
A. Column \B” Cell
C. Row D. Page
Wil WaAs 99, 9 egedte &g fHars nighie & &t fsxgr Ater 37
A. TBH B. B®
c. 3 D. U

59. Which one of the following functions can be used to count number of cells having
numeric values?

7 Count() B. Countn()
C. Counta() D. Countnum()
TIfE 7 Aaer 37
A. Count() : B. Countn()
C. Counta() D. Countnum()
60. Which one of the following can be used to join the selected cells?
A._doin B. Pivot
N4 Merge D. Wrap
g I8 AE & s 88 I 13 1Y fon g & 233 Ji3t 7 Aa=t J?
A AfEs B. file
C. Had D. Y
61. Which one of the following is used to start a foin’?éin MS excel?
A S .=
C. # B, =

Aer g7
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62.

63.

64.

65.

66.

67.

68.

A S B. =

C. # D. =
Which one of the following formulas is not written c- -iectly?
A. =57 B =sum(A1:A9)
C. =B4+A8 449
Jo fafmit 39 fagar g ToysT A E91 &8 &t fBfemr famr 37
A. =5%7 B. =sum(A1:A9)
C. =BL+AS D. 4+9
WhiWas the “Conditional Formatting” option in MS Excel?
” Home B. Formulas
C. Insert D. View
WA WA RY 903 Hig fT "dStHes gonfdar fessy 37
A. IH B. SIHSH
c. ffasnge D. T8

Which menu has the “Filter” option in MS Excel?
A. me B. File
/" Data D. View
A waRg €9 faga Wig K9 "fesea’ feasu 37
A. IH B. TES

G, & D. fe@
Which one of the following is not part of ‘MS Office suite’?

A. Word B. Powerpoint
C. Access \D./ﬁc:zro

Jo' i3 79 fagzr s M A wien 7' w [Jar &df J7

A. I3 B. uegufie
C. WaHA D. Haa
Which oneof the following is not a ‘web browser'?
< HTML B. Firefox
C. Safari _ D. Edge
fege’ 39 faggr f8a '8 e’ &Ji 37
A. g g B. gfegean
C. Aedt D. WA
Who amongst the following is called the father of Computer?
\g/ﬁgleates B. Douglas Engelbart
. Charles Babbage D. Ada Lovelace
Jo' i3 &7 fom & dfugea T fuzT fagr Aer 7
A. T893 dien B. JIISH WNIBEIC
C. II8H g8 D. W3 B<&H
What is fhe full form of ‘CSV'?
7 Comma Separated Values B. Cursor Separated Values
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69.

70,

i,

T2,

73

74.

C. Comma Separated Variables D. Cursor Separated Variables

R Ty gy a7

A. o Audfes 2au B. SIAT AUSfeg 2gw
C. I AUSfez TeEsH D. Sgng MuIfez 2JeEsA
Which one of the following is the shortcut to insert new slide in presentation?
A. Ctrl+n B. Ci+q
C. Ctrl+o trl + m
It i3 5 YAeHs &9 551 Aeelg e © Agcdc & J7
A. Ctrl + n B. ‘Gl *q
C. Ctrl + o D. Ctrl + m
Whifzk;yﬁn the keyboard can be used to view Slide show?
= kb5 B. F10
G, Fi B: Fl12
AEEF 1 oHE B8 dagg ©f faadt di(key) TIST 7 AT I?
A. F5 B. F10
C. Fl D. Fl12
What is the Binary equivalent of Decimal Number 457
A. 110011 B. 100101
C. 100110 ~101101
THHSE Aftm 45 T SHiadt 5999 & 97
A. 110011 B. 100101
C. 100110 D. 101101

Which one of the following is not an email service provider?

A. Yatoo B. Rediff
~Facebook D. Google

fogs’ &% faoz e ehis Aafer Jerfesa &dt 37

A. WY B. 3f3<
C. eHgEd D. J91%
What i\z%hortcut in windows operating system to print a notepad document?
7 Ctrl +p B. Ctrl+r
C. Windows + p D. Windows +r
e selz enged fije 996 g6 i3 Gudfdar fAreH €9 wracdce &t 37
A. Ctrl + p B. Ctrl +r
C. Windows + p D. Windows + r

Which one of the following helps persons with disability to operate the Computer?
A. Settings B. Eerfits
C. Display <~ Accessibility
frge’ &9 faggr g wurgn fenadht & SfuBea gage 9o Hee dae J7
A. AT B. 3¢
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79,

76.

77.

78.

79.

80.

81.

c. fgmud D. WR RSS!
Which Mwe following has a tree like view of folders and files?

Windows Explorer B. Control Panel

C. Start Menu D. My Computer
It &3 &9 fan 9 K5 emaa w3 Tis’ © & ried fe@ Hge 37

A 39 nlamias B. de3m Ua%

c. ATge Hig D. AT (My) Sfuges
In windowsHperating system, deleted files/folders go to?

Recycle Bin B. Cycle Bin

C. Dust Bin D. Dump
f&37 Guafea famer &9, f3die S TEisgt/283d 98 AT I67

A JAEES s B. AEE fg®

C. 3Ac a5 D. U
Which one of the following is the Windows cloud storage service?

A ogle Drive B. Win Cioud

#~One Drive D. Win Drive

Jo 23 28 fagdt e &3w Io83 Acad AIfeA I7

A. NS 3IJER B. <5 I8g3

C. €& IT8e D. fes I
Which key is used to display and hide the start menu in Widows OS?

A) Windows Key + d w;udows Key +p

C) Windows Key + | indows Key
fe3m § win {9 Acge Hig § fourBe w3 ga8e BEt fagdt dl(key) TI3T A
37

A fegaat+d B. fegmdat + o]

c. fegmdt + 1 D. fega at
Program in execution is called as: R//

A. Command rocess

C. Instruction D. Task
HfagHe &8 Yare § &t faar Aer 37

A. IHF B. JAR
C. Ercans D. THF

Which ;V’the following is not harmful for a computer?

Firewall B. Trojan horse
C. Virus D. Malware
fogst &5 fagzr fig dfugeg &¢ Ialaad &df J?
A TEIes B. TI7G JIH
C. <fegn D. H&and

An ‘error’ is also known as
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82.

83.

84.

85.

86.

87.

A bug B. Cursor

C/Bug D. Bin
A. FrEar B. S9Ag
C. a1 D. &5
Who W the QWERTY layout of keyboard?
” Christopher Sholes B. August Dvorak
C. William Norris D. George Stibitz
NTII 2 QWERTY BwEe & 89 faA & Si31?
A. fgqAces asn B. WITH3 FI
C. feshm &fgr D. A9 AcIfaeH
Which topology requires a central controller or hub?
yésh B. Bus
Star D. Ring
fan 2USH BE dTdt deosd A I9 ©f 83 Jot 97
A. AA B. =H
C. ACd D. fdar
Which one of the following can store maximum amount of data?
A. Floppy Disk E)mpact Disk
C. Pen Drive <" Hard Disk
J&' &3 &9 fagz™ f6g Jer & €u 3 g H3Tr § AT 99 AaeT I7
A. g8t f3AF B. dUde f3rAd
c. 0% 3Ide D. I3I3 f3ra
Which one ef the following is a language for creating web page?
HTML B. FTTP
C. HTTP D. FTP
9 07 5=t of J&' i3 &F faut fa 37 (language) 37
A. HTML B. FTTP
C. HTTP D, ETP

Which one of the following is not a search engine?

A. Bing g}adgle
C. Gibiru 7 Windows

A, foar B. JNI®
c. fafag D. 37
Which one of the following is the correct email format?
A c@psou@edu B. abc.psou.edu
/" abc@psou.edu )] abc@pgou#edu
It i3 s W, Ft. 8 faoz fis ois Wt 3t g/one Adt 97
A. abc@psou@edu B. abc.psou.edu
C. abc@psou.edu D. abc@psou#edu
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88.  Which one of the following is the correct descending order of the units of memory?

A >MB > GB > KB B. MB>GB>TB>KB
TB>GB > MB > KB D. GB>MB>KB>TB
Jo fea 35 fagz R ANt S fearenit T At weer oy 37
A. TB>MB > GB > KB B. MB>GB>TB>KB
C. TB>GB>MB>KB D. GB>MB>KB>TB
89. In which year the first E-mail was sent?
A. 1967 BM1971
C. 1983 D. 1991
Ufggt 8-08 far A8 3+ e Ar?
A. 1967 B. 1971
C. 1983 D. 1991
90.  Which one of the following is called the main directory of a computer?
A. Folder B. S irectory
C. Network oot Directory
A. 2BIT B. AY Ifedacdt
C. se=a D. ge Ffedsedt

General Knowledge

91. Who was the first chief minister of Punjab?
A. S. Partap Singh Kairon B. Shri Bhim Sen Sachar
” Dr. Gopi Chand Bhargava D. S. Lachhman Singh Gill
Urrg € YfgsT o H3dt 3 At?
A A @Y iy 33 B. HI 3 AG AT
C. . Inft ge Fgar=e D. A. Z8HE fiy i
92. Which one of the following Indian freedom fighters killed General Michael O'Dwyer in
Britain
u’Ztham Singh B. Bhagat Singh
C. Chandra Shekhar Azad D. Ashfaqulla Khan
HIT HI?
A. GoH iy B. Fa13 fiy
C. 9ed AYg wae D. WHSSS S
93. Which amongst the following Sikh Guru built the Akal Takht Sahib at Amritsar?
A. Guru Nank Dev Ji \E}uru Ram Das Ji
C. Guru Arjan Dev Ji 7 Guru Hargobind Sahib Ji
fogs &5 faaz ity g & ifiEAa el wars 393 Afae & @Adt ST At?
A. I &6 B At B. g IHEH At
C. I WIH& T At D. 31 Jdifde Afas #t
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94. What is the name of the memorial built by the Punjab Government at Kartarpur
(Punjab)?
< Jang-e-Azadi Memorial B. Virasat-e-Khalsa
C. Punjab State War Heroes D. Vadda Ghallughara Memorial
Memorial and museum

Urg Agard 28 d939Yd (UAH) o gemd 918t wrearg O o &7 97

A. FIT-E-wrel Wredrd B. RIAZ-B-UBHA
c. ey AT =9 I9T hishs D. 3" uuaT ARSE
w3 TG
95. ‘National Sports Day’ is celebrated on which one of the following dates in India?
A, July 29" - August 29"
C. September 29" D. October 29"
I3 &9 ‘THed U3 feen’ g Hafmr aer 37
A. 29 g8E § B. 29 WAIA3 §
C. 29 SS9 § D. 29 Wa3EI §
96. In which year India won the first Olympic Gold Medal in Hockey?
A. 1925 . 1928
C. 1935 D. 1942
F93 & Il &9 ufger §3fua w3 A3s fan A fifswr @e
A. 1925 B. 1928
C. 1935 D. 1942
97. ‘Thomas Cup’ is associated with which one of the following sports?
A. Hockey B. kawn Tennis
C. Football ~ Badminton
BrA FY J& T 937 &9 fam as gfgwr Ifewr 37
A. &t B. M& 2fsH
C. T D. g3fHes
- 98. The Battle of Plassey was fought in which year?
A 1748 . 1757
C. 1764 B. 1782
USTH € 3! {97 7S S31 are 77
A. 1748 B. 1757
C. 1764 D. 1782
99, Which one of the following countries do not share land boundary with India?
A. Bhutan \B/Eangladesh
C. Nepal ~ Tajikistan
Jo fBfemr €T o7 ©7 9793 &8 THaT 7 A S &dl aa9e?
A. ITH B. HI®TH
C. BUS D. 3T TIA3IS
100.  'Jim Corbett National Park’ is located in which stafe of India?
A. Himachal Pradesh . Uttarakhand
C. Madya Pradesh D. Jharkhand
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‘i 98T SHGS USd 993 © fan g £ AfE3 37
A. foes y©r B. €393
C. Hu yen D. 943
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